INTERNATIONAL INDIAN SCHOOL, RIYADH
VI – VIII SECTION

CLASS : VIII

MATHEMATICS 

EXPONENTS (Powers)         
1. Simplify and write in exponential form:
a. [image: image2.png](—=5)3



Х[image: image4.png](—5)*



  


          b. [image: image6.png]p3



Х [image: image8.png]p-10




c[image: image10.png].33



Х [image: image12.png]3-10



Х[image: image14.png]38



  



d[image: image16.png](2% + 2%)°



Х  [image: image18.png]


       
e.    [image: image20.png](—4)~3



  Х  [image: image22.png](5)3



 Х  [image: image24.png](=5)73





f.  [image: image26.png](—3)*



Х[image: image28.png]


    
g. [image: image30.png]


Х[image: image32.png]







h. [image: image34.png](—4)° = (4)®





               

2. Find the value of:
a. [image: image36.png])



                 


          b. [image: image38.png][&2-&7]



  [image: image39.png]


 ([image: image41.png]


                                    c. [image: image43.png]o7



Х  [image: image45.png]Q0






          d. [image: image47.png](3°



 + [image: image49.png]


 Х [image: image51.png]22



                                             e. ([image: image53.png]


 Х [image: image55.png]


)[image: image56.png]


 [image: image58.png]


                                  f. ([image: image60.png]SN



 + [image: image62.png]Q)



 +([image: image64.png]



g. [image: image66.png](37t +
471+
5710



              

h. [image: image68.png](S



                                          i.  [image: image70.png]87x!
52








 
j. ([image: image72.png]


Х[image: image74.png]


) Х  [image: image76.png]


                          k. [image: image78.png](G-



    
           

l. ([image: image80.png]


 Х [image: image82.png]o™



                                   

m.       25 Х [image: image84.png]


                                            n.   [image: image86.png]


   Х   [image: image88.png]


   Х   125        

             [image: image90.png]


 Х10Х[image: image92.png]


                                              [image: image94.png]


    Х       [image: image96.png]


  

3. Evaluate :

a.  [image: image98.png]


      b. ([image: image100.png]—4)72



         c. [image: image102.png]SN



      
 d.[image: image104.png]


 QUOTE  
 1/ 3 -2              e. [image: image106.png]


              

4. Find the multiplicative inverse of the following :

a[image: image108.png]


              b. [image: image110.png]


                 c . [image: image112.png]



d. [image: image114.png]


                        e. [image: image116.png]10100



                         

5. If  [image: image118.png]


 =([image: image120.png]


 [image: image122.png]©)°



 Find the value of [image: image124.png])



 if m=[image: image126.png]


3 n=4
6. Find the value of [image: image128.png]


 if x= ([image: image130.png]


 [image: image132.png]



7. What should [image: image134.png]o



be divided  so that the quotient becomes 9?

8. What should [image: image136.png])"



 be multiplied so that product becomes 25?

9. Express each of the following rational number in exponential form:

a. [image: image138.png]


                   b. [image: image140.png]


                 c. [image: image142.png]


                  d. [image: image144.png]243000
229000




10.  Simplify and express the result as powers of 2:

a. [image: image146.png](3



  [image: image147.png]


 [image: image149.png]ONE



                              b.  [image: image151.png](3°



 +   [image: image153.png]50



)[image: image154.png]


 ([image: image156.png]40



 +[image: image158.png]20



)
11. Express the following as a rational  number:

i. [image: image160.png]





ii.[image: image162.png]





iii.[image: image164.png])"




Type equation here.iv.  [image: image166.png]


                       v.   [image: image168.png]


     

vi.  [image: image170.png]



12.     Express the following as a rational numbers in power notation:

i. [image: image172.png]i






ii. [image: image174.png]




  iii.  [image: image176.png]—216
=12



   

iv.  [image: image178.png]



v. [image: image180.png]256
P



                        vi. [image: image182.png]T 2135




vii.
[image: image184.png]oa





viii.[image: image186.png]100
9261



 
 13. Simplify:

     i. [-1/3-(7/5)²] Х (3/5)²                             

ii. (-3/8)³ Х 4³ Х (2/3)²

     iii. [(4/5)² +(5/-7)²] Х (2/5)² [image: image188.png]


 (-4/5)³

     iv.(-3/8)² Х (5/6)³ [image: image189.png]


 [ [image: image191.png]


 [image: image192.png]


 [image: image194.png]©)?



] [image: image195.png]


 (4/9)²

14. Find the reciprocal of:

     i) (-7/3)²

                       ii) [image: image197.png]©)?




      
                     iii) (-6)³
iv) (2/-3)³ × (3/-4)²                     v) (2/3)² × (3/4)²   
       

5. Find the absolute value of :

    i)(2/3)³ 

ii) (-4/7)²

iii) ((5/-8)³

iv) (-11/13)²
6. Which of the two rational numbers (-3/5) and (3/5) is smaller? Insert four rational numbers between them.

7. Find the product of the cube of (-2/3) and the square of (4/-5).
8. Fill in the blanks:

    i)[image: image199.png](—2)* x



 [image: image201.png](—2)°



 = (-2)-----                     ii) [image: image203.png](—3)*



 [image: image205.png](—=3)*°



 =(1/-3)____ iii) (4²)³ = (4)_________
     
           iv[image: image207.png](—D°+



 [image: image209.png](—2)?



 = (-[image: image211.png]


)  ______
   v) [image: image214.png]


 [image: image216.png]


 =([image: image218.png]



      vi) [image: image220.png][(—6)%]*



 = (-6)______                                  9. Simplify:

    i) (3/4)² × (3/4)³




ii) (-2/7)² × (-2/7)³

    iii) [image: image222.png](=7/8)*



 ÷ (-7/8)²
 

            iv)(1/3²)³

10. Simplify and express the result in power notation:

     i) [image: image224.png](7/—4)*



 [image: image225.png]


 ([image: image227.png]7/—4)¢





           ii) ([image: image229.png]3/8)°



 [image: image230.png]


 [image: image232.png](3/8)°



  

    iii) (-5/2)³ ÷ [image: image234.png](=5/2)



                                 iv)[(-3/4)²]³

    v)  (-5/7)6 ÷ (-5/7)³

                    vi) [(-3/4)²]³

    vii) [(-5/7)4]5 

11. Find the value of:

      i) [image: image236.png]






ii) ([image: image238.png]—4)73




  


iii. ([image: image240.png]



    iv) ([image: image242.png]






v) [image: image244.png]






vi) [image: image246.png](=3)7t






12. Express the following as a  rational number with positive exponent by using laws of exponents:
  i)  [image: image248.png](3/4)72



 
              ii)( [image: image250.png]-7/8)7¢




                      iii) [image: image252.png][(373)*]




                  iv)[image: image254.png]


 [image: image255.png]


 [image: image257.png]


                     v) ([image: image259.png]3)~*



 [image: image260.png]


 [image: image262.png](5)~*



    
  
vi)[image: image264.png]37



 Х  [image: image266.png]


 [image: image268.png]



13. Express the following as a  rational number with negative exponent by using laws of exponents:
   i)  [image: image270.png](1/3)*



 

                                                    ii) [image: image272.png][(3%)3]




                                           iii) [image: image274.png]—42



 Х  [image: image276.png]—43



 [image: image278.png]


                                           iv)[image: image280.png](5/—6)?



 [image: image281.png]


 [image: image283.png](-2?



   [image: image284.png]


 1/-6                                             v)
[image: image286.png][(—3/8%)%]




       
14.Find the value of :

      i) 5°



ii) 2° + 4° + 5°


iii) [image: image288.png]3)5+3+s



   

      iv) [image: image290.png](—7)8%8-8-10



                     v) (2° Х 4° [image: image291.png]


 5° + 3°) [image: image292.png]


 7°

15.  By what number should we multiply [image: image294.png]


 so that the product may be equal to 25 ?

16. By what number should [image: image296.png]


 be  divided so that the quotient may  be equal to [image: image298.png]


 ?                                                                                                                                                

17. Find the value of x, such that [image: image300.png](3/5)72



 Х [image: image302.png](3/5)72



 = [image: image304.png](3/5)73*



.

18. Find the value of y, such that [image: image306.png](2/-3)°



 Х [image: image308.png](=2/3)73



 = [image: image310.png](—2/3)¥+2




19. Find the reciprocal of the rational number :
      [([image: image312.png]2/3)73



 Х (6/7)² ] [image: image313.png]


 [(3/7)² Х [image: image315.png](3/4)3




20. If x= [image: image317.png](2/3)°*



 [image: image318.png]


 [image: image320.png](4/6)72



 Х (3/4)², find [image: image322.png]



21. If y= (5/2)² Х ([image: image324.png]5/3)*



,  then find the value of y³.
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